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1. 
a) Indirect, complete, permanent, rigid 
b) Direct, complete, removable, rigid 
c) Indirect, partial, removable, flexible 

2.   C 

3. The screw creates a link that is removable, indirect, so the arm can be replaced. The link is partial to permit 
movement. 
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5. D 

6. B 

7. Use a larger cam or lower the center of rotation. 

8.  C 

9. C 

10. B 

11. The best material would be carbon fibre because: 
Low density: light weight 
Hardness and resilience: resistance to denting and shocks 
Resistance to corrosion: subjected to ice and water 
Rigidity: resistance to application of constraints.  
 
 
 

 

 

 

 



 

 

 

 


